Answer on Question #38280 — Economics - Other

Assignment

The price of cooking gas raised by 25%. By what percent should the consumption decrease so
that the expenditure remains the same?

Solution

First of all we have to write the equation for the expenditure:
Expenditure = Price * Consumption
For the first period we can write the following equation:
Expenditurel = Pricel * Consumptionl
For the first period we can write the following equation:
Expenditure2 = Price2 * Consumption2

According to the task the price of cooking gas raised by 25% and the consumption decreased by
X%. So we can rewrite the last equation:

Expenditure2 = Pricel* (1+0.25) * Consumption1*(1-X)
The expenditure remains the same, so
Expenditurel = Expenditure2
Pricel * Consumptionl = Pricel* (1+0.25) * Consumption1*(1-X)
Pricel * Consumptionl = Pricel* 1.25 * Consumption1*(1-X)

We can divide both sides of equation by Pricel * Consumptionl. We will get the following
equation:
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1=1,25% (1-X)
1=1,25-1,25*X
X = (1,25 -1)/1,25
X=0,2

So, the consumption should decrease by 20% so that the expenditure remains the same.
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